JOE F. CHILDERS & ASSOCIATES

ATTORNEYS AT LAW
THE LEXINGTON BUILDING

201 West Short Street, Suite 300 Lexington, Kentucky 40507

Joe F. Childers, Esquire Joe@Jchilderslaw.com

Telephone: (859) 253-9824 Facsimile: (859) 258-9288

anuary 10 2010

RECEIVED

JAN 23 2019

PUBLIC SERVICE COMMISSION

January 19, 2019

Executive Director Kentucky Public Service Commission 211 Sower Boulevard Frankfort, Kentucky 40601

Re: B&H Gas Company

Case No. 2018-00433 - Filing Deficiency

Dear Ms. Pinson:

Gwen Pinson

Please accept this letter as the response of B&H Gas Company to the deficiency letter you sent dated January 10, 2019.

Attached please find the requested and corrected forms BA-DB and BA-FR completed for each class of customer service. If the staff has any questions, please direct those to me, and consider this letter as my entry of appearance on behalf of B&H Gas Company in this matter.

Thank you for your attention to this matter.

Sincerely,

JOE F. CHILDERS

Mi

BILLING ANALYSIS - FLAT RATES

RECEIVED

Revenue from Present/Proposed Rates

JAN 23 2019

PUBLIC SERVICE COMMISSION

	<u>Current Rate</u>	<u>Proposed Rate</u>
Number of Customers	232	232
Flat Monthly Rate	\$0.00	\$15.00
Monthly Revenue	\$0.00	\$3,480.00
Number of Months	12	12
Annual Revenue	\$0.00	\$41,760.00

BILLING ANALYSIS - FLAT RATES

Revenue from Present/Proposed Rates

	<u>Current Rate</u>	Proposed Rate
Number of Customers	27	27
Flat Monthly Rate	\$0.00	\$15.00
Monthly Revenue	\$0.00	\$405.00
Number of Months	12	12
Annual Revenue	\$0.00	\$4,860.00

B&H Gas Company

Rate Study Report
From 01/01/2017 through 12/31/2017
Limited to Revenue Class: RESIDENTIAL/

Tier Schema: RATE SCHEDULE

Tier	Begin Range	End Range	Bill Count	Apt. Count	Usage in Tier
 l	0	2	2753	2753	3624
2	. 3	10	1249	1249	5824
3	11	31	248	248	1227
4	32	9999999999	0	0	0
				Total Usage	10675

Revenue from Present/Proposed Rates Test Period from 01-01-2017 to 12-31-2017

USAGE TABLE

Usage by Rate Increment

Class: Residential (Current Rate)

(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
	Bills	Gallons/Mcf	First 2 MCF Min. Bill	Next 8 MCF	Next 20 MCF	Over 30 MCF		Total
First 2 MCF (Min. Bill)	1256	3624	3624					3624
Next 8 MCF	1249	5824		5824				5824
Next 20 MCF	248	1227	0	0	1227			1227
Over 30 MCF	0	0	0	0	0	0		0
Totals	2753	10675	3624	5824	1227	0	0	10675

REVENUE TABLE

Revenue by Rate Increment

(1)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
First 2 MCF (Min. Bill)	2753	3624	\$4.7938	\$13,197.33
Next 8 MCF	·	5824	\$1.9788	\$11,524.53
Next 20 MCF		1227	\$1.5611	\$1,915.47
Over 30 MCF		0	\$1.3103	\$0.00
Totals	2753	10675		\$26,637.33

Instructions for Completing Revenue Table:

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

Revenue from Present/Proposed Rates Test Period from 01-01-2017 to 12-31-2017

USAGE TABLE

Usage by Rate Increment

Class: Residential (Proposed Rate)

(1)	(2)	(3)	(4)	(5)	(6)	(7)	/91	(9)
(1)	Bills	Gallons/Mcf	First 2 MCF Min. Bill	Next 8 MCF	Next 20 MCF	Over 30 MCF	(8)	Total
First 2 MCF (Min. Bill)	1256	3624	3624					3624
Next 8 MCF	. 1249	5824		5824				5824
Next 20 MCF	248	1227	0	0	1227			1227
Over 30 MCF	0	0	0	0	0.	0		0
-								
Totals	2753	10675	3624	5824	1227	0	0	10675

REVENUE TABLE

Revenue by Rate Increment

(1)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
Customer Service Charge (Min. Bill)	2753		\$15.0000	\$41,295.00
All MCF		10675	\$16.3209	\$174,225.61
	i i			\$0.00
		·		\$0.00
	·			
Totals	2753	10675		\$215,520.61

Instructions for Completing Revenue Table:

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

B&H Gas Company

Rate Study Report

From 01/01/2017 through 12/31/2017 Limited to Revenue Class: COMMERCIAL/

Tier Schema: RATE SCHEDULE

Tier	Begin Range	End Range	Bill Count	Apt. Count	Usage in Tier
1	0	2	308	308	328
2	3	10	138	138	802
3	11	31	84	84	1155
4	32	999999999	37	37	921
				Total Usage	3206

Revenue from Present/Proposed Rates Test Period from <u>01-01-2017</u> to <u>12-31-2017</u>

USAGE TABLE

Usage by Rate Increment

Class: Commercial (Current Rate)

(1)	(2) Bills	(3) Gallons/Mcf	(4) First 2 MCF Min. Bill	(5) Next 8 MCF	(6) Next 20 MCF	(7) Over 30 MCF	(8)	(9) Total
First 2 MCF (Min. Bill)	49	328	328					328
Next 8 MCF	138	802		802				802
Next 20 MCF	84	1155	0	0	1155			1155
Over 30 MCF	37	921	. 0	0	0	921		921
Tabela	200	2200	220	802	1155	021		3206
Totals	308	3206	328	802	1155	921	U	3206

REVENUE TABLE

Revenue by Rate Increment

(4)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
First 2 MCF (Min. Bill)	308	328	\$4.7938	\$1,476.49
Next 8 MCF		802	\$1.9788	\$1,587.00
Next 20 MCF		1155	\$1.5611	\$1,803.07
Over 30 MCF		921	\$1.3103	\$1,206.79
Totals	308	3206		\$6,073.34

Instructions for Completing Revenue Table:

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

Revenue from Present/Proposed Rates Test Period from 01-01-2017 to 12-31-2017

USAGE TABLE

Usage by Rate Increment

Class: Commercial (Proposed Rate)

(1)	(2) Bills	(3) Gallons/Mcf	(4) First 2 MCF Min. Bill	(5) Next 8 MCF	(6) Next 20 MCF	(7) Over 30 MCF	(8)	(9) Total
First 2 MCF (Min. Bill)	49	328	328		TONE 20 ITE.	over 50 mer		328
Next 8 MCF	138	802		802				802
Next 20 MCF	84	1155	0	0	1155			1155
Over 30 MCF	37	921	0	0	0	921		921
Totals	308	3206	328	802	1155	921	0	3206

REVENUE TABLE Revenue by Rate Increment

(1)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
Customer Service Charge (Min. Bill)	308		\$15.0000	\$4,620.00
All MCF		3209	\$16.3209	\$52,373.77
				\$0.00
				\$0.00
Totals	308	3209		\$56,993.77

Instructions for Completing Revenue Table:

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.